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HPPE ¢ 100mmBkEMRis T HEFTES
&1 0% HPPE ® 100mm: L=86.676m(86.575m) +7.214m(7.214m) =93.890m (93.789m)

EHOR ERA G5 1K (Z079m)  HEIF 61001 (120 86m)

TER M £4Y :0.70m NO., 71
E LR
TiE £ BRTZE H#H7 Z B %
JKEEKE EFZOFMEE I
M FYIFLUE ¢ 100 % 5,000 X 13 5000 X 13 = 65.000
JKEEKE EFZOMEE
FUIFLVE ¢ 100 % 5,000 X 5 BB R LY = 23.060| &M
FYIFLVE R L
EF S $45° A'UN ¢ 100 & 1 0490 X 1 = 0490
FYIFLVER L
EFM$245° A'UN ¢ 100 & 1 0.380 X 1 = 0.380
FYIFLVE R L
EFF$22 1/2° AUV ¢ 100 1 1 0390 x 1 = 0.390
FYIFLVE R L
EFfEIS22 1/2° AUV ¢ 100 1 5 0280 X 5 = 1.400
FYIFLVER L
EFASZ111/4° AUN ¢ 100 e 2 0400 x 2 = 0.800
FYIFLVE R L
EFES11 1/4° A'UN 100 1 1 0280 x 1 = 0.280
FYIFLVER I 0300 x 1 = 0.300
EFfZF-2 ¢ 100 x ¢ 100 & 1L 0140 x 1 = 0.140
L
PEHE O -MET S ¢ 100 = 1 0.860 X 1 = 0.860
GF-7.5K L
PEELOMIIVY TFE $100% ¢ 75 & 1 0790 X 1 = 0790
GF-7.5K
-V EEIER ¢ 75 H=150 = 1
z®
EEERATS S 25 b 1
SUSHK ILh-Fyb D H
VY HFEH ¢75 75K #H 1
RF-GF3EH
VY HFEH ¢75 75K #H 1
EFYfyb ¢ 100 & 2
PCY3{uk ¢ 100 A 3
¢ 250
TUFRA%E CH1E 2K 4 1
¢ 250
TEUFRAVY VR YR L& H=150 A 1
¢ 250
TEUFRAVY VR YR F &8 H=300 A 1
¢ 250
TEUFRAVY VR YR T8 H=300 & 1
¢ 250
TEUFRAVY VR YR JEER(AA) H=40 | & 1
A#3E
ELFRABE ¢ 500 & 1
¢ 500
ELRFRALY VR VIR L& H=200 A 1
¢ 500
ELRFRALY VR YIR FER H=100 A 1
¢ 500
ELRFRALY VR YIR T H=200 & 1
¢ 500
ELSFRALY VR YIR JEER(AA) H=40 | & 1
BSEE HPPE® 100 = 93.890
¢ 100 L5 TR TSR
EBRT—7 W=50 m 92.2 93890 — 0860 — 0.790 = 02.240| ZERFITR
Tz ¢ 100 L5 TR TSR
BEERY-b W=150 2{& m 92.1 93789 — 0860 — 0.790 = 02.139| ZERFITR
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HPPE & 100mmEckEfhis L HESTEE

E1E- O04%: HPPE ¢ 100mm:L=86.676m (86.575m) +7.214m(7.214m) =93.890m (93.789m)

O RS 925 1H(1=0.79m)

{5 100 x 12 (1=0.86m)

ER S 1Y :0.70m NO., 71
E LR
TiE £ BRTZE H#H7 Z B %
FHE [FET)
A HPPE T
FYIFLVERAGT ¢ 100 m 93.0 93890 - 0.860 = 93.030
O#F) EE RYE Hr245° M=45°
EFf¢F T ¢ 100 BN 36 13+ 5 + 1 + 1 +
Fs22° ms%22° A11°
1 + 5 X 2 + 2
mZ11°
1 X 2 = 36
(20O0#F) w72 Yok
EFf¢F T ¢ 100 ERT 3 1 + 2 = 3
ERELY
FYIFLU BT ¢ 100 A 14 14 = 14
HTUHEET ¢ 100 = 1 1 = 1
7510
ERFHET ¢ 25 = 1 1 = 1 a8
7.5K 779
IV MFET ¢ 75 [m} 1 1 = 1
ARIFEEE
A)—THE ¢ 100 m 93.9 93.890 = 93.890
FYIFLVE PCY 3{uk
MZhVEFET ¢ 100 m] 3 3 = 3
e LEZ7S PGy 34Uk
MZhVEFET ¢ 100 m] 3 3 = 3
¢ 250 T
TUIFRAKERGT CH15 2K [Elzi 1 1 = 1
TR ¢ 250
LY Uk v REA T & H=150 & 1 1 = 1
tUIsA ¢ 250
LY Uk v REA T h &R H=300 & 1 1 = 1
TR ¢ 250
LY Uk yIR BT T&B H=300 & 1 1 = 1
TR ¢ 250
LY URyIAR T JEE (AR H=40 | & 1 1 = 1
A#3E TR
ERFABEEANT ¢ 500 [Elzil 1 1 = 1
TR ¢ 500
LY VR YIAR T L& H=200 & 1 1 = 1
TR ¢ 500
LY URYIAR T F1E8 H=100 & 1 1 = 1
TR ¢ 500
LY URYIAR T T#B H=200 & 1 1 = 1
TR ¢ 500
LY URYIAR T JEE (AR H=40 | & 1 1 = 1
HPPE Ton5 TERF TSR
EBRRT-7 T W=50 m 92.2 93890 — 0860 — 0.790 = 02.240| ZERFITR
T HPPE " EEH HERER
ERR-PT W=150 2{& m 92.1 93789 — 0860 — 0.790 = 92.139| TR
HPPE
BKEERT IR Bk m 93.9 93.890 = 93.890
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E1E- O04%: HPPE ¢ 100mm:L=86.676m (86.575m) +7.214m(7.214m) =93.890m (93.789m)

HPPE & 100mmEckEfhis L HESTEE

EE-OF . ZRF: 025 12(L=0.79m)

HE15: $100 x 12 (1=0.86m)

&M T8Y:0.70m NO. 71
E LR
TiE £ BRTE | # & B %
FHE [£T])
¢ 100
+I® E BEHE m 5.3 15 38 5.3
¢ 100
h ) E BEHE m 10.9 3.7 7.2 10.9
¢ 100
+I® E BEHE m 1.7 1.7 1.7
$100 HREET
o () g HE m 454 454 454
$100 HREET
+1I6 E BEHE m 30.5 30.5 30.5
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No. 1 NO. 1 ERQ) NO. 2 +T® NO. 3 ER©) NO. 4 Eaan() NO. 5 +I06 NO. 6 NO. 7 NO. 8
HPPE & 10082k & 7% 5.3 =R L 10.9 =R L 1.7 =R L 45.4 =R L 30.5 =R L =R L =R L =R L
& 7 i % B BHE

AsERZE R 2.00 10. 60 2.00 21.80 2.00 3.40 35.80 ) 36 )

SEYMT t=15cmA T m
AsEREE R 0.60 3.18 0.60 6.54 0.60 1.02 10.74) 1)

SRR T |t=10cmA T m2,
{4-0y%s) BFA ) )

W - BB 200 x 200 m2
BHO. 08m3 0.47 2.49 0.75 8.18 0.53 0.90 11.57) 10)

AR YE T Myt m3
BHO. 08m3 0.19 1.01 0.19 2.07 0.19 0.32 0.32 14.53 0.29 8.85 26.78 ) 30)

HWHERT BAL m3
BHO. 08m3 0.15 0.80 0.43 4.69 0.21 0.36 5.85) 10)

HEMERET H4ES m3
(RC-30) 0.60 3.18 0.60 6.54 0.60 1.02 10.74) 1)

TREET t=10cm m2
(RM=30) 0.60 3.18 0.60 6.54 0.60 1.02 10.74) 1)

TERET t=12cm m2
(RM-30) ) )

TERET t=10cm m2
BHE BAZH As13mn 0.60 3.18 0.60 6.54 0.60 1.02 10.74) 1)

BEREIR t=3cm m2
# B4R As13mm ) )

BEREIR t=3cm m2
R 0.30 1.59 0.27 2.94 0.30 0.51 5.04) 10)

(8 2tDT m3,
R 0.03 0.16 0.03 0.33 0.03 0.05 0.54) 1)

(AS) 2tDT m3
ZAE 0.07 0.37 0.07 0.76 0.07 0.12 1.25) 1.3)

A S t
) )

BRIV T m3
) )

BT m2




Wi &5 = @D HPPE $100 L= 53 m
Brigib B = ind B
EREEE S = 0130 X 0.130 X / = 0.013
BHESR = X X / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEFEER t=10cmbl T 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
i L. BHO.08m3
P A B A 1.00 X 0.60 X( 0.83 — 0.05 )= m3 0.47
HET. BHO.08m3
S NG A A 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
HET. BHO.08m3
S NG A A 1.00 X 0.60 X 025 = m3 0.15
T BT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
FHiAS 4P 047 —( 0.15 = 0.90 )= m3 0.30
FEL A T 2tDT
FERS TA77/ i 1.00 X 0.60 X 0.06 = m3 0.03
ZAE
TA7 7Nk 0.03 X 235 = t 0.07




VN

@  HPPE $100 L= 10.9

m
Brigib B = ind B
R = 0130 X 0130 X / = 0.013
BHESR = X X / = 0.000
Im2%0
% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEFIERR t=10cmbl 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
el 1. BHO.08m3
A B 1.00 X 0.60 X( 1.30 — 0.05 )= m3 0.75
HET. BHO.08m3
K NFEIED HEA - 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
HET. BHO.08m3
K NFEIED TS A 1.00 X 0.60 X 0.72 = m3 0.43
FEBERET (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
JEAZL 4% 0.75 —( 0.43 + 0.90 )= m3 0.27
FEL A T 2tDT
FERS TAT7 I 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA7 7Nk 0.03 X 2.35 = t 0.07




Wi &5 = B HPPE $100 L= 1.7 m
Brigib B = ind B
EREEE S = 0130 X 0.130 X / = 0.013
BHESR = X X / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEFEER t=10cmbl T 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
i L. BHO.08m3
W WL A FEE - 1.00 X 0.60 X( 093 — 0.05 )= m3 0.53
HET. BHO.08m3
S NG A A 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
HET. BHO.08m3
S NG A A 1.00 X 0.60 X 035 = m3 0.21
T BT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
FHAA LA 0.53 —( 0.21 = 0.90 )= m3 0.30
FEL A T 2tDT
FERS TA77/ i 1.00 X 0.60 X 0.06 = m3 0.03
ZAE
TA7 7Nk 0.03 X 235 = t 0.07




Wi &5 = @ HPPE $100 L= 454 m
Brigib B = ind B
EREEE S = 0130 X 0.130 X / = 0.013
BHESR = X X / = 0.000
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 0.00 X 0 = m 0.00
BULEN A 1
AsEFEER t=10cmbl T 0.00 X 0.00 = m2 0.00
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
i L. BHO.08m3
WA BT 0.00 X 0.00 X( 0.00 — 0.00 )= m3 0.00
FAEZ 1. BHO.08m3
S NG A A 1.00 X 1.00 X 0.33 — 0.013 = m3 0.32
FAEZ 1. BHO.08m3
S NG A A 0.00 X 0.00 X 0.00 = m3 0.00
T BT (RC-30)
t=10cm 0.00 X 0.00 = m2 0.00
LB EAE T (RM-30)
t=12cm 0.00 X 0.00 = m2 0.00
LB EAR T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 0.00 X 0.00 = m2 0.00
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
FHAA LA 0.00 —( 0.00 = 0.90 )= m3 0.00
FEL A T 2tDT
FERS TA77/ i 0.00 X 0.00 X 0.00 = m3 0.00
ZAE
TA7 7Nk 0.00 X 235 = t 0.00




Wi &5 = @  HPPE $100 L= 30.5 m
Brigib B = ind B
EREEE S = 0130 X 0.130 X / = 0.013
BHESR = X X / = 0.000
Im2%0

% 7 o & =
EHIELI T
AsBFIERK t=15cmlL T 0.00 X 0 = m 0.00
BULEN A 1
AsEFEER t=10cmbl T 0.00 X 0.00 = m2 0.00
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
i L. BHO.08m3
WA BT 0.00 X 0.00 X( 0.00 — 0.00 )= m3 0.00
HHE 1. BHO.08m3 SEH
S NG A A 1.00 X 0.92 X 0.33 — 0.013 = m3 0.29
FAEZ 1. BHO.08m3
S NG A A 0.00 X 0.00 X 0.00 = m3 0.00
T BT (RC-30)
t=10cm 0.00 X 0.00 = m2 0.00
LB EAE T (RM-30)
t=12cm 0.00 X 0.00 = m2 0.00
LB EAR T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 0.00 X 0.00 = m2 0.00
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
FHAA LA 0.00 —( 0.00 = 0.90 )= m3 0.00
FEL A T 2tDT
FERS TA77/ i 0.00 X 0.00 X 0.00 = m3 0.00
ZAE
TA7 7Nk 0.00 X 235 = t 0.00




HPPE ¢ 100 XPE ¢ 25 « ¢ 25357k K&k



feKEMERTLT (BKEH100) HEFES
Elfé'DfZ.PE(bZOmmXGEFﬁ PE¢25mmX3%Fﬁ'
Max s T#Y :0.60m NO, 2
E LR
TiE £ BRTE H % 8 B %
HPPEF
#H# FE AT KAE $100% ¢ 20 6
HPPEF
YT KEE $100x ¢ 25 & 3
FCDEL
1E 7Kgy R ZEWE & 9
FHE [FET)
HPPEF
DIKRETAAT @100 % ¢ 20 [Elzi1 6
HPPEF
DIKRETAAT $100 % ¢ 25 [Elzi 3
MIH Ty =
fRKEERT PE ¢ 20 ERT 6 283
MIH Ty =
fRKEERT PE ¢ 25 ERT 3 2,50
[£1]
iE -l &EtL=
#HAKEID PE ¢ 20- ¢ 25 m 20.0 20.0 20.0
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No. 2 NO.1_#a/KELD] NO.2 NO.3 NO. 4 NO.5 NO. 6 NO. 7 NO. 8
PES 20mm - @ 25mm#s K EHR | 200 =EE L SEE L SEE L SEE L SEE L SEE L SEE L EE L
E 7 B % B REHE

AsTRERR 2.00 40.00 40.00 ) 40)
SWEYVIMT  [t=15cmu T m

AsTRERR 0. 60 12.00 12.00 ) 12)
SRR T |[t=10cmBlF m2
{h-ny%vy | BFA ) )
= - BB 1200 x 200 m2

BHO. 08m3 0.35 7.00 7.00) 10)
WHEET Bt m3

BHO. 08m3 0.14 2.80 2.80) 3)
WEIEET  [BAL m3

BHO. 08m3 0.09 1.80 1.80) 2)
WEHIEET  |[Rat m3

(RC-30) 0. 60 12.00 12.00 ) 12)
TERET t=10cm m2

(RW-30) 0. 60 12.00 12.00 ) 12)
LTERET t=12cm m2

(RW-30) 0. 60 12.00 12.00 ) 12)
TERET t=10cm m2
HE BAEZH As13mm 0. 60 12.00 12.00 ) 12)
BEREIR t=3cm m2
EZ BAEZH As13mm ) )
BEREIR t=3cm m2
BIOST 0.25 5.00 5.00 ) 10)
(L) 2tDT m3
BIAST 0.03 0. 60 0.60) D)
(AS) 2tDT m3
ZAE 0.07 1.40 1.40) T.4)

A S




WA = Fk@ PE 20 625 L= 20.0 m
Brigib B = nE HEE
R = 0030 X 0030 X 1 / = 0,001
BHESR = X X / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsEHRER t=10cmEL T 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
i L. BHO.08m3
- A B A 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
HET. BHO.08m3
LN JEA L 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HET. BHO.08m3
LN A 1.00 X 0.60 X 0.15 = m3 0.09
FE AR T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LB EAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=10cm 1.00 X 0.60 = m2 0.60
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
JEAZL 4% 0.35 —( 0.09 = 0.90 )= m3 0.25
FEL A T 2tDT
FERS TAT7 I 1.00 X 0.60 X 0.05 = m3 0.03
ZAE
TA7 7Nk 0.03 X 235 = t 0.07
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IRE&E

PE4 SO » BT BEFTES

LR Y 0.30m~1.17Tm

NO. 3
R
T &5 KT E B % & B Z
BT R
H# SR 53 ki ¢ 100 % ¢ 50 ® 1
a7 ¢ 50 & 1
K iE FA B E R
FVIFLVZBE ¢ 100 X ¢ 50 m 95.2 92.900 + 2.300 = 95.200
4 1EKiE A
FVIFLVER#BTF ¢ 50 & 1
FESRE L]
FVIFLVER#BTF ¢ 50 & 3
90° Ik
FVIFLVER#BTF ¢ 50 & 15
faLA
=7’ ¢ 50 #8 2
VLP7'3% ¢ 50 & 1
BFENF-R
FVIFLVER#BF ¢ 50% ¢ 20 & 6 (RIS
BFENF-R
FYIFLVER#F $50x ¢25 & 3 (RERHAKE
Y
YL KEREr7 ¢ 50 & 1 Sk
FE (#BT]
B E R
RKEETAAT ¢ 100 X ¢ 50 (517 1
HaT7EAE ¢ 50 G331 1
BT
FYIFLVERAGT ¢ 50 m 64.0 15.000 + 49.000 = 64.000
S 1kEK e v 3
FYIFLVERMFT ¢ 50 a 52 1 + 3 4+ 15 x 2+
F-R F-3
6 X 2 + 3 X 2 = 52
EEFHERLY
RYIFLVEDIET ¢ 50 m] 25 25 = 25
kK eSS 735
HERLAHMFT ¢ 50 m] 6 1T+ 3+ 2 = 6
447°A L=
RERIEKEERT PE®20 T |&FR 1 2.500
447°B L=
RERIEKEERT PE®25 T |&Fr 1 2.500
447°C L=
RERIEKEERT PE®25 T |&Fr 1 3.500
447D FiyL=
RERIEKEERT PE®20 T |&Fr 5 4.000
447E L=
RERIEKEERT PE®25 #MTH |&Fr 1 1.500
®ET ¢ 50 m 64.0 15.000 + 49.000 = 64.000
[(HET]
_BE
FYIFLVERET ¢ 50 m 64.0
FYIFLVERBFRALT ¢ 50 a 52
HERLAHFRNALT ¢ 50 m} 4
_BE
FYIFLVERET ¢ 25 m 7.5
_BE
FYIFLVERET ¢ 20 m 225
FYIFLVERBFRALT ¢ 25 [m] 3
FYIFLVERBFRALT ¢ 20 [m] 6
(£T]
- BB mEx
RER#HEAKEIO PE ¢ 20- ¢ 25 m 24.3 243 = 243
- BB =
RER#EAKTI® PE ¢ 20- ¢ 25 m 24.3 243 = 243
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No. 2 NO.1  {RE&#A/KE | NO.2 {mE&#A/K® [ NO.3 NO. 4 NO.5 NO. 6 NO.7 NO. 8
PES20mm - & 25mmi 58#57K B #5% 24.3 “ER L 24.3 SER L “ER L =R L =R L =R L =R L =R L
£ o iR % B HEEE
AsEiZERR 2.00 48. 60 48.60 ) 49 )
I T t=15cmLLF m
AsERZERR 0. 60 14.58 0. 60 14.58 29.16 ) 29)
SHEERBEFAT  [t=10cmA T m2
AV5-nyFvy” B A ) )
BE - HE 200 x 200 m2
BHO. 13m3 0.17 4.13 0.18 4.37 8.50) 10)
AR YE T et m3
BHO. 13m3 ) )
HWERT BAL m3
BHO. 13m3 0.12 2.92 0.05 1.22 4.14) 4)
HWERT FAET m3
(RC-30) 0. 60 14.58 0. 60 14.58 29.16 ) 29)
TrERET t=10cm m2,
(RM-30) 0. 60 14.58 14.58 ) 15)
LB T t=12cm m2,
(RM-30) ) )
LIERAET t=10cm m2,
HE BAZH As13mm 0.60 14.58 0. 60 14.58 29.16 ) 29)
ERE{REIR t=3cm m2
i BETH As13mm ) )
ERE{REIR t=3cm m2
FrsT 0.04 0.97 0.12 2.92 3.89) 4)
(£8) 2tDT m3
FrsnsT 0.03 0.73 0.02 0.49 1.22) 1)
(AS) 2tDT m3
ZAE 0.07 1.70 0.05 1.22 2.92) 2.9)

A S




Wi K KR35 PE  ¢20 625 L= 24.3 m (%)
Brigib B = nE HEE
R = 0030 X 0030 X / = 0.001
BHESR = X X / = 0.000
Im249

%5 B 7 o & =
LI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
LR T
AsBFFERR t=10cmid T 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
KR T, BHO. 13m3
b B+ - BEET - 1.00 X 0.60 X( 0.33 — 0.05 )= m3 0.17
HEET BHO.13m3
LN TEA A 0.00 X 0.00 X 0.00 — 0.000 = m3 0.00
HEET BHO.13m3
LN T A 1.000 X 0.60 X 0.20 — 0.001 = m3 0.12
FEEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 0.00 X 0.00 = m2 0.00
_F/EEEAE T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
WS (A (A RIAs13mm, A7) BiE
t=3cm 1.00 X 0.60 = m2 0.60
WS (A (A RIAS13mm, A7) #38
t=3cm 0.00 X 0.00 = m2 0.00
FET AT 2(DT W= L
BUA% 1w 017 —( 0.12 = 0.90 )= m3 0.04
FET AT 2(DT
FEAD TR 1.00 X 0.60 X 0.05 = m3 0.03
FAE
TA7 7Nk 0.03 X 2.35 = t 0.07




Wik E = (RE¥G) PE  $20 625 L= 24.3 m (t%£)
Brigib B = nE HEE
R = 0030 X 0030 X / = 0.001
BHESR = X X / = 0.000
Im249

% 7 o & =
LI T
AsBFIERK t=15cmlL T 0.00 X 0 = m 0.00
LR T
AsBFFERR t=10cmid T 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
KR T, BHO. 13m3
b B+ - BEET - 1.00 X 0.60 X( 0.33 — 0.03 )= m3 0.18
HEET BHO.13m3
LG A A 0.00 X 0.00 X 0.00 — 0.000 m3 0.00
HEET BHO.13m3
LG A 1.00 X 0.60 X 0.08 — 0.000 m3 0.05
FEEAE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEAE T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
_F/EEEAE T (RM-30)
t=10cm 0.00 X 0.00 = m2 0.00
WS (A (A RIAs13mm, A7) BiE
t=3cm 1.00 X 0.60 = m2 0.60
WS (A (A RIAS13mm, A7) #38
t=3cm 0.00 X 0.00 = m2 0.00
BT T 2tDT e+ AL+
BUA% 1w 0.18 —( 0.05 =+ 0.90 )= m3 0.12
LT 2tDT
FEAD TR 1.00 X 0.60 X 0.03 = m3 0.02
FAE
TA7 7Nk 0.02 X 2.35 = t 0.05
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BIREDIP-Ap 100BELLT #EFHESE
EE-Of BLEHEAER :L=2.600m+7.200m=29.800m
EE-Of . AWKE ST ¢100mm 2&
R EH: £4%Y:0.80m~1.17m NO. 4
E LR
TiE £ BRTZE H % 8 B %
SRR
#H# Kz Ah=hIL 1 ¢ 100 # 3
HSER
THKESETH ¢ 100 = 2 1 + 1 = 2
¢ 250
T RA%E CHE1E xR ® 2 1 + 1 = 2
¢ 250
HOFRAVY VR YR L& H=150 & 2 1 + 1 = 2
¢ 250
HOFRAVY VR YR th#8 H=300 & 2 1 + 1 = 2
¢ 250
HOFRAVY VEYIR T&B H=300 & 2 1 + 1 = 2
¢ 250
EUFALY VRYIZA | EER(FfZ) H=40 | {& 2 1 + 1 = 2
FHE [(#5%T])
LE3 &g
SR E M- AIEFE T ¢ 100 [m} 3 3 = 3
BEIEERT [m}
BRER sk EUIMT T ¢ 100 A 6 3 x 2 = 6
HE 29597
BIR M ERSET ¢ 100 m 9.8 2600 + 7.200 = 9.800 0.2t
HE
THKESEDFRET ¢ 100 H 2 1 + 1 = 2
¢ 250
TUIFRAKERGT CH15 xR |&FT 2 1 + 1 = 2
¢ 250
HEFRALY UK IR T E# H=150 & 2 1 + 1 = 2
@250
HYIFRLY vl yIATRA T &8 H=300 & 2 1 + 1 = 2
@250
HYIFRLY vl yIATRA T T# H=300 & 2 1 + 1 = 2
@250
HUFRAVY Uk ARG T EE(FHfZ) H=40 | A 2 1 + 1 = 2
[£x]
iE - il
BIELTTID 100 m 3.0 15 + 15 = 30
iE -l
BIELTTO 08 ¢ 100 m 45 15 4+ 15 + 15 = 45
iE -l
EILEETTI® #E P 100 m 5.3 11+ 42 = 53

-2/6 -




No. 4 NO.1T B+ T[ N0.2 BEEIE+T@[ NO.3 EEIEFTR| NO.4 NO. 5 NO. 6 NO.7 NO. 8
BIREDIP-AP 1005 1L T 3.0 =EEL 4.5 =EEL 53 =EEL EER L EER L EER L EER L EER L
£ o iR % B HEEE
AsEiZE 2.00 6. 00 2.00 9.00 2.00 10. 60 ( 25.60) 26 )
I T t=15cmA T m
AsERZERR 1.00 3.00 0. 60 2.70 0. 60 3.18 ( 8.88) 9)
SHEERBEFAT  [t=10cmA T m2
AV5-nyFvy” B A ( ) )
BE - HE 200 x 200 m2
BHO. 13m3 1.43 4.29 0.79 3.56 0.73 3.87 ( 11.72) 10)
AR YE T et m3
BHO. 13m3 0.51 1.53 0.24 1.08 ( 2.61) 3)
HWERT BAL m3
BHO. 13m3 0.72 2.16 0.50 2.25 0.70 3.1 ( 812) 10)
HWERT FAET m3
(RG-30) 1.00 3.00 ( 3.00) 3)
TRERET t=10cm m2,
(RG-30) 0. 60 2.70 0. 60 3.18 ( 5.88) 6)
LERET t=10cm m2,
(RM-30) 1.00 3.00 ( 3.00) 3)
LERET t=12cm m2,
HE BAZH As13mm 1.00 3.00 0. 60 2.70 0.60 3.18 ( 8.88) 9)
ERE{REIR t=3cm m2
i BETH As13mm ( ) )
BRE{REIR t=3cm m2
FrsT 0.63 1.89 0.23 1.04 |-0.05 -0.27 ( 2.66) 3)
(£8) 2tDT m3
FrsnsT 0.05 0.15 0.03 0.14 0.03 0.16 ( 0.45) 0.5)
(AS) 2tDT m3
ZAE 0.12 0.36 0.07 0.32 0.07 0.37 ( 1.05) 1.1)

A S




Wik = 1@ DIP 4100  FHAKL= 1.5 m
Brigib B = nE HEE
R = 0120 X 0120 X 1 / = 0.011
AR = X X z / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsBFIERK t=10cml{ T 1.00 X 1.00 = m2 1.00
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
G L. BHO.13m3
A B 1.00 X 1.00 X( 1.49 — 0.05 )— 0.011 =| m3 1.43
FAEE 1. BHO. 13m3
LN JEA L 1.00 X 1.00 X 0.52 — 0.011 = m3 0.51
FAEE 1. BHO. 13m3
LN A 1.00 X 1.00 X 0.72 = m3 0.72
TSR T (RC-530)
t=10cm 1.00 X 1.00 = m2 1.00
_FIERRE T (RC-30)
t=10cm 0.00 X 0.00 = m2 0.00
_F/EEEAE T (RM-30)
t=12cm 1.00 X 1.00 = m2 1.00
WS (A (A RIAs13mm, A7) BiE
t=3cm 1.00 X 1.00 = m2 1.00
WS (A (A RIAS13mm, A7) #38
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
HEAA - 1.43 —( 0.72 = 0.90 )= m3 0.63
FEL A T 2tDT
FEAL TAT7 W EE 1.00 X 1.00 X 0.05 = m3 0.05
ZAE
TA7 7Nk 0.0 X 2.35 = t 0.12




gL = FEIF@ DIP 4100 g L= 4.5 m
Brigib B = nE HEE
R = 0120 X 0120 X 1 / = 0.011
BHESR = X X / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEFIERR t=10cmbl 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
el 1. BHO.15m3
A B 1.00 X 0.60 X( 1.39 — 0.05 )— 0.011 =| m3 0.79
FAEE 1. BHO. 13m3
LN JEA L 1.00 X 0.60 X 0.42 — 0.011 = m3 0.24
FAEE 1. BHO. 13m3
LN A 1.00 X 0.60 X 0.84 = m3 0.50
TSR T (RC-530)
t=10cm 0.00 X 0.00 = m2 0.00
_FIERRE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEEAE T (RM-30)
t=12cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
FEAA A 0.79 —( 0.50 = 0.90 )= m3 0.23
FEL A T 2tDT
FERS TAT7 I 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA7 7Nk 0.03 X 2.35 = t 0.07




Wrgi#ES = FEIFB DIP 4100 ME L= 53 m
Brigib B = nE HEE
R = 0120 X 0120 X / = 0.011
BHESR = X X / = 0.000
Im2%0

% 7 o & =
ARG T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DR AT T
AsEFIERR t=10cmbl 1.00 X 0.60 = m2 0.60
LAy F T I - R
200X 200 (FF/H) 0.00 X 0.00 = m2 0.00
el 1. BHO.15m3
A B 1.00 X 0.60 X( 1.29 — 0.05 )— 0.011 =| m3 0.73
HIET. BHO.13m3
K NFEIED HEA - 0.00 X 0.00 X 0.00 — 0.000 = m3 0.00
HET. BHO.13m3
K NFEIED TS A 1.00 X 0.60 X 1.16 = m3 0.70
FEBERET (RC-30)
t=10cm 0.00 X 0.00 = m2 0.00
_FIERRE T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
_F/EEEAE T (RM-30)
t=12cm 0.00 X 0.00 = m2 0.00
P E 1B (AR As 1 3mm, A F7) Bl
t=3cm 1.00 X 0.60 = m2 0.60
RS B (AR As13mm, A F7)
t=3cm 0.00 X 0.00 = m2 0.00
FEL A T 2tDT malt+  WwHEt
JEAZL 4% 0.73 —( 0.70 = 0.90 )= m3 -0.05
FEL A T 2tDT
FERS TAT7 I 1.00 X 0.60 X 0.05 = m3 0.03
AL
TA7 7Nk 0.03 X 2.35 = t 0.07
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